
MATHS

BOOKS - BEYOND PUBLICATION

MENSURATION

Example

1. The radius of a conical tent is 7 metres and

its height is 10 metres. Calculate the length of

canvas used in making the tent if width of

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UrMCimmSYLSz


canvas is 2m. 

Watch Video Solution

[  Use π = ]
22

7

2. An oil drum is in the shape of a cylinder

having the following dimensions:

diameter is 2 m. and height is 7 meters. The

painter charges  to paint the

drum. Find the total charges to be paid to the

painter for 10 drums?

Watch Video Solution

Rs. 3perm2

https://dl.doubtnut.com/l/_UrMCimmSYLSz
https://dl.doubtnut.com/l/_TZ59SPbXxx6K


3. A sphere, a cylinder and a cone have the

same radius and same height then the ratio of

their curved surface areas is ……….

Watch Video Solution

4. A company wanted to manufacture 1000

hemispherical basins from a thin steel sheet. If

the radius of each basin is 21 cm., find the

required area of steel sheet required to

manufacture the above hemispherical basins ?

https://dl.doubtnut.com/l/_TZ59SPbXxx6K
https://dl.doubtnut.com/l/_dIwkNpuCeRNE
https://dl.doubtnut.com/l/_3wbNPkirHt1F


Watch Video Solution

5. A right circular cylinder has base radius 14

cm and height 21 cm. Find its : 

i) Area of base or area of each end 

ii) Curved surface area 

iii) Total surface area and 

iv) Volume of the right circular cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_3wbNPkirHt1F
https://dl.doubtnut.com/l/_i8Xsqw9v86og


6. A right circular cylinder has base radius 14

cm and height 21 cm. Find its : 

i) Area of base or area of each end 

ii) Curved surface area 

iii) Total surface area and 

iv) Volume of the right circular cylinder.

Watch Video Solution

7. A right circular cylinder has base radius 14

cm and height 21 cm. Find its : 

https://dl.doubtnut.com/l/_XOUTGHlNToCU
https://dl.doubtnut.com/l/_F7mjCPNpMQzo


i) Area of base or area of each end 

ii) Curved surface area 

iii) Total surface area and 

iv) Volume of the right circular cylinder.

Watch Video Solution

8. Find the volume and surface area of a

sphere of radius 2.1 cm. 

Watch Video Solution

(π = )
22

7

https://dl.doubtnut.com/l/_F7mjCPNpMQzo
https://dl.doubtnut.com/l/_hsu4SAT5fCYB


9. Find the volume and the total surface area

of a hemisphere of radius 3.5 cm. 

Watch Video Solution

(π = )
22

7

10. Consider the following situations. In each

find out whether you need volume or area and

why ? 

i) Quantity of water inside a bottle. 

ii) Canvas needed for making a tent. 

iii) Gas filled in a cylinder.

https://dl.doubtnut.com/l/_LCuKGBzFIQOq
https://dl.doubtnut.com/l/_6lbpEmp3ZSt3


Watch Video Solution

11. Consider the following situations. In each

find out whether you need volume or area and

why ? 

i) Quantity of water inside a bottle. 

ii) Canvas needed for making a tent. 

iii) Gas filled in a cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_6lbpEmp3ZSt3
https://dl.doubtnut.com/l/_W56hw6IFeFM9


12. Consider the following situations. In each

find out whether you need volume or area and

why ? 

i) Quantity of water inside a bottle. 

ii) Canvas needed for making a tent. 

iii) Gas filled in a cylinder.

Watch Video Solution

13. Consider the following situations. In each

find out whether you need volume or area and

https://dl.doubtnut.com/l/_eXKc88gcCl4w
https://dl.doubtnut.com/l/_IgPLhyGXvqme


why ? 

i) Quantity of water inside a bottle. 

ii) Canvas needed for making a tent. 

iii) Gas filled in a cylinder.

Watch Video Solution

14. Consider the following situations. In each

situation, find out whether you need to find

volume or surface area and why?: Number of

match sticks that can be put in the matchbox.

Watch Video Solution

https://dl.doubtnut.com/l/_IgPLhyGXvqme
https://dl.doubtnut.com/l/_2Lwf0JhGYYai


15. Think of 5 more objects around you that

can be seen as a combination of shapes. Name

the shapes that combined to make them.

Watch Video Solution

16. A joker's cap is in the form of right circular

cone whose base radius is 7 cm and height is

24 cm. Find the area of the sheet required to

make 10 such caps.

Watch Video Solution

https://dl.doubtnut.com/l/_2Lwf0JhGYYai
https://dl.doubtnut.com/l/_cY9tZxupfHCV
https://dl.doubtnut.com/l/_YL3FouNs87rD


17. A sports company was ordered to prepare

100 paper cylinders without caps for shuttle

cocks. The required dimensions of the cylinder

are 35 cm length / height and its radius is 7

cm. Find the required area of the thin paper

sheet needed to make 100 cylinders.

Watch Video Solution

https://dl.doubtnut.com/l/_YL3FouNs87rD
https://dl.doubtnut.com/l/_SrGnGiYEoVAr


18. Find the volume of right circular cone with

radius 6 cm. and height 7 cm.

Watch Video Solution

19. The lateral surface area of a cylinder is

equal to the curved surface area of a cone. If

their base be the same, find the ratio of the

height of the cylinder to slant height of the

cone.

Watch Video Solution

https://dl.doubtnut.com/l/_6YXJGvOzawBz
https://dl.doubtnut.com/l/_n6VBAqXQKltq


20. A self help group wants to manufacture

joker's caps (conical caps) of 3 cm radius and 4

cm height. If the available colour paper sheet

is 1000 , then how many caps can be

manufactured from that paper sheet ?

Watch Video Solution

cm2

21. A cylinder and cone have bases of equal

radii and are of equal heights. Show that their

volumes are in the ratio of 3 : 1

https://dl.doubtnut.com/l/_n6VBAqXQKltq
https://dl.doubtnut.com/l/_VlvMt1ibiAHk
https://dl.doubtnut.com/l/_0tXjke39vNjj


Watch Video Solution

22. A solid iron has cylinderical shape. Its

height is 11 cm. and base diameter is 7 cm.

Then find the total volume of 50 rods ?

Watch Video Solution

23. A heap of rice is in the form of a cone of

diameter 12 m. and height 8 m. Find its volume

? How much canvas cloth is required to cover

https://dl.doubtnut.com/l/_0tXjke39vNjj
https://dl.doubtnut.com/l/_7lAGeD3zZ7Nv
https://dl.doubtnut.com/l/_NRSzjfpCxNot


the heap ? 

(Use )

Watch Video Solution

π = 3.14

24. The curved surface area of a cone is 4070

 and its diameter is 70 cm . What is its

slant height ?

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_NRSzjfpCxNot
https://dl.doubtnut.com/l/_QF3c6tixKzGQ


25. Mention two situations where do you use

hydrated and unhydrated salts in your daily

life.

Watch Video Solution

26. A sphere is inscribed in a cylinder. Is the

surface of the sphere equal to the curved

surface fo the cylinder ? If yes, explain how.

Watch Video Solution

https://dl.doubtnut.com/l/_HaMh4gQzneqd
https://dl.doubtnut.com/l/_et9a6XWqZZj5
https://dl.doubtnut.com/l/_hBaO9uw57KqZ


27. A right triangle, whose base and height are

15 cm and 20 cm. respectively is made to

revolve about its hypotenuse. Find the volume

and surface area of the doble cone so formed.

(use pi = 3.14)

Watch Video Solution

28. A wooden toy rocket is in the shape of a

cone mounted on a cylinder as shown in the

adjacent figure. The height of the entire rocket

is 26 cm, while the height of the conical part is

https://dl.doubtnut.com/l/_hBaO9uw57KqZ
https://dl.doubtnut.com/l/_F0aWV0HqeyyM


6 cm. The base of the conical position has a

diameter of 5 cm, while the base diameter of

the cylindrical portion is 3 cm. If the conical

portion is to be painted orange and the

cylindrical portion is to be painted yellow, find

the area of the rocket painted with each of

these colour.

(Take pi = 3.14)

Watch Video Solution

https://dl.doubtnut.com/l/_F0aWV0HqeyyM


29. A toy is in the form of a cone mounted on a

hemisphere. The diameter of the base and the

height of the cone are 6 cm and 4 cm

respectively. Determine the surface area of the

toy. 

[Use ]

Watch Video Solution

π = 3.14

30. A solid is in the form of a right circular

cylinder with a hemisphere at one end and a

https://dl.doubtnut.com/l/_mwZPoOC5BINQ
https://dl.doubtnut.com/l/_qrIZemHqVxKb


cone at the other end. The radius of the

common base is 8 cm and the heights of the

cylinderical and conical portions are 10 cm and

6 cm respectively. Find the total surface area

of the solid.  [Use ]

Watch Video Solution

            π = 3.14

31. A medicine capsule is in the shape of a

cylinder with two hemispheres stuck to each

of its ends. The length of the capsule is 14 mm.

and the width is 5 mm. Find its surface area.

https://dl.doubtnut.com/l/_qrIZemHqVxKb
https://dl.doubtnut.com/l/_5loxH5Dt5CC5


Watch Video Solution

32. Two cubes each of volume 64  are

joined end to end together. Find the surface

area of the resulting cuboid.

Watch Video Solution

cm3

33. A storage tank consists of a circular

cylinder with a hemisphere stuck on either

end. If the external diameter of the cylinder be

1.4 m. and its length be 8 m. Find the cost of

https://dl.doubtnut.com/l/_5loxH5Dt5CC5
https://dl.doubtnut.com/l/_zFQeUV8okUOX
https://dl.doubtnut.com/l/_7P7SItb3tFAH


painting it on the outside at rate of Rs. 20 per

.

Watch Video Solution

m2

34. A sphere, a cylinder and a cone have the

same radius and same height. Find the ratio of

their volumes. 

[Hint : Diameter of the sphere is equal to the

heights of the cylinder and the cone.]

Watch Video Solution

https://dl.doubtnut.com/l/_7P7SItb3tFAH
https://dl.doubtnut.com/l/_xXYKYs4ngLft
https://dl.doubtnut.com/l/_N2glRuQocgMx


35. A hemisphere is cut out from one face of a

cubical wooden block such that the diameter

of the hemisphere is equal to the edge of the

cube. Determine the surface area of the

remaining solid.

Watch Video Solution

36. A wooden article was made by scooping

out a hemisphere from each end of a solid

cylinder, as shown in the figure. If the height of

https://dl.doubtnut.com/l/_N2glRuQocgMx
https://dl.doubtnut.com/l/_D429iUQmOAQH


the cylinder is 10 cm and its base radius is 3.5

cm, find the total surface area of the article.

Watch Video Solution

37. If the diameter of the cross - section of a

wire is decreased by 5%, by what percentage

should the length be increased so that the

volume remains the same ?

Watch Video Solution

https://dl.doubtnut.com/l/_D429iUQmOAQH
https://dl.doubtnut.com/l/_XDGieJxOAX0d


38. Surface area of a sphere and cube are

equal. Then find the ratio of their volumes.

Watch Video Solution

39. A solid toy is in the form of a right circular

cylinder with hemispherical shape at one end

and a cone at the other end. Their common

diameter is 4.2 cm and the height of the

cylinderical and conical portions are 12 cm and

7 cm respectively. Find the volume of the solid

https://dl.doubtnut.com/l/_DcsEsodZ9dOY
https://dl.doubtnut.com/l/_laaWIBk0EJKr


toy. 

Watch Video Solution

[Use π = ]
22

7

40. A cylinderical container is filled with ice-

cream whose diameter is 12 cm and height is

15 cm. The whole ice-cream is distributed to 10

children in equal cones having hemispherical

tops. If the height of the conical portion is

twice the diameter of its base, find the

diameter of the ice-cream cone.

https://dl.doubtnut.com/l/_laaWIBk0EJKr
https://dl.doubtnut.com/l/_i01qgQ8nVOGl


Watch Video Solution

41. A solid consisting of a right circular cone

standing on a hemisphere, is placed up-right

in a right circular cylinder full of water and

touches the bottom. Find the water and

touches the bottom. Find the volume of water

left in the cylinder, given that the radius of the

cylinder is 3 cm. and its height is 6 cm. The

radius of the hemisphere is 2 cm. and the

height of the cone is 4 cm. 

Watch Video Solution

[Take π = ]
22

7

https://dl.doubtnut.com/l/_i01qgQ8nVOGl
https://dl.doubtnut.com/l/_VOuGoycTikVP


42. A cylinderical pencil is sharpened to

produce a perfect cone at one end with no

over all loss of its length. The diameter of the

pencil is 1 cm and the length of the conical

portion is 2 cm. Calculate the volume of the

shavings. Give your answer correct to two

places if it is in decimal. 

Watch Video Solution

[Use π = ]
355

113

https://dl.doubtnut.com/l/_VOuGoycTikVP
https://dl.doubtnut.com/l/_4yJSCw3JjMKx


43. An iron pillar consists of a cylindrical

portion of 2.8 m. height and 20 cm. in

diameter and a cone of 42 cm. height

surmounting it. Find the weight of the pillar if

1  of iron weighs 7.5 g.

Watch Video Solution

cm3

44. A toy is made in the form of hemisphere

surmounted by a right cone whose circular

base is joined with the plane surface of the

https://dl.doubtnut.com/l/_2mH2RLZ6tRYp
https://dl.doubtnut.com/l/_ZF1TvABJfFzI


hemisphere. The radius of the base of the

cone is 7 cm. and its volume is 3/2 of the

hemisphere. Calculate the height of the cone

and the surface area of the toy correct to 2

places of decimal. 

Watch Video Solution

(Take π = 3 )
1

7

45. Find the volume of the largest right

circular cone that can be cut out a cube whose

edge is 7 cm.

https://dl.doubtnut.com/l/_ZF1TvABJfFzI
https://dl.doubtnut.com/l/_6Z6MBYv3jPDR


Watch Video Solution

46. A cylindrical tub of radius 5 cm and length

9.8 cm is full of water. A solid in the form of

right circular cone mounted on a hemisphere

is immersed into the tub. The radius of the

hemisphere is 3.5 cm and height of cone

outside the hemisphere is 5 cm. Find the

volume of water left in the tub. 

Watch Video Solution

                   (Take π = )
22

7

https://dl.doubtnut.com/l/_6Z6MBYv3jPDR
https://dl.doubtnut.com/l/_gGNVeeCLW2y1


47. In the adjacent figure, the height of a solid

cylinder is 10 cm and diameter is 7 cm. Two

equal conical holes of radius 3 cm and height

4 cm are cut off as shown in the figure. Find

the volume of the remaining solid.

Watch Video Solution

48. Spherical marbles of diameter 1.4 cm. are

dropped into a cylindrical beaker of diameter 7

cm., which contains some water. Find the

https://dl.doubtnut.com/l/_OVdPbJpA9c6d
https://dl.doubtnut.com/l/_mh7QnVQRGwY8


number of marbles that should be dropped

into the beaker, so that water level rises by 5.6

cm.

Watch Video Solution

49. A pen stand is made of wood in the shape

of cuboid with three conical depressions to

hold the pens. The dimensions of the cuboid

are 15 cm by 10 cm by 3.5 cm. The radius of

each of the depression is 0.5 cm and the depth

https://dl.doubtnut.com/l/_mh7QnVQRGwY8
https://dl.doubtnut.com/l/_WDYXj29GYvUZ


is 1.4 cm. Find the volume of wood in the

entire stand.

Watch Video Solution

50. Which barrel shown in the below figure can

hold more water? Discuss with your friends.

Watch Video Solution

51. A copper rod of diameter 1 cm. and length 8

cm. is drawn into a wire of length 18 m of

https://dl.doubtnut.com/l/_WDYXj29GYvUZ
https://dl.doubtnut.com/l/_whNA9YOjpo4X
https://dl.doubtnut.com/l/_BP67sUHDYyXE


uniform thickness. Find the thickness of the

wire.

Watch Video Solution

52. Parvali house has a water tank in the shape

of a cylinder on the roof. This is filled by

pumping water from a sump (an underground

tank) which is in the shape of a cuboid. The

sump has dimensions 1.57 m  1.44 m  9.5

cm. The water tank has radius 60 cm. and

height 95 cm. Find the height of the water left

× ×

https://dl.doubtnut.com/l/_BP67sUHDYyXE
https://dl.doubtnut.com/l/_dCt6bcZO8Phn


in the sump after the water tank has been

completely filled with water from the sump

which had been full of water. Compare the

capacity of the tank with that of the sump. (

=3.14)

Watch Video Solution

π

53. A cone of height 24 cm and radius of base

6 cm is made up of modelling clay. A child

reshapes it in the form of a sphere. Find the

radius of the sphere.

https://dl.doubtnut.com/l/_dCt6bcZO8Phn
https://dl.doubtnut.com/l/_JUZnNFf8jnVT


Watch Video Solution

54. The diameter of the internal and external

surfaces of a hollow hemisperical shell are 6

cm. and 10 cm. respectively. It is melted and

recast into a solid cylinder of diameter 14 cm.

Find the height of the cylinder.

Watch Video Solution

55. A hemispherical bowl of internal radius is

15 cm. contains a liquid. The liquid is to be

https://dl.doubtnut.com/l/_JUZnNFf8jnVT
https://dl.doubtnut.com/l/_8OqIBgB5CmSl
https://dl.doubtnut.com/l/_QMsu85jV2pav


filled into cylinderical bottles of diameter 5 cm.

and height 6 cm. How many bottles are

necessary to empty the bowl ?

Watch Video Solution

56. The diameter of a metallic sphere is 6 cm. It

is melted and drawn into a long wire having a

circular cross section of diameter as 2 cm. Find

the length of the wire.

Watch Video Solution

https://dl.doubtnut.com/l/_QMsu85jV2pav
https://dl.doubtnut.com/l/_iEzmdoB45vxN
https://dl.doubtnut.com/l/_hI1MhNpxTIvS


57. How many spherical balls can be made out

of a solid cube of lead whose edge measures

44 cm and each ball being 4 cm. in diameter ?

Watch Video Solution

58. A women self help group (DWARCA) is

supplied a rectangular solid (cuboid shape) of

wax with diameters 66 cm., 42 cm., 21., to

prepare cylindrical candles each 4.2 cm. in

diameter and 2.8 cm. of height. Find the

number of candles.

https://dl.doubtnut.com/l/_hI1MhNpxTIvS
https://dl.doubtnut.com/l/_txK9NuwDPHKo


Watch Video Solution

59. A metallic sphere of radius 4.2 cm. is

melted and recast into the shape of a cylinder

of radius 6 cm. Find the height of the cylinder.

Watch Video Solution

60. Three metallic spheres of radii 6 cm., 8 cm.

and 10 cm. respectively are melted together to

https://dl.doubtnut.com/l/_txK9NuwDPHKo
https://dl.doubtnut.com/l/_lSQrZ2LMyeI6
https://dl.doubtnut.com/l/_AKi3YvCnrlTW


form a single solid sphere. Find the radius of

the resulting sphere.

Watch Video Solution

61. A 20 m deep well with diameter 7 m. is dug

and the earth got by digging is evenly spread

out to form a rectangular platform of base

22m.  14m. Find the height of the platform.

Watch Video Solution

×

https://dl.doubtnut.com/l/_AKi3YvCnrlTW
https://dl.doubtnut.com/l/_PNWn73ZKtGAA


62. A well of diameter 14m. is dug 15m. deep.

The earth taken out of it has been spread

evenly all around it in the shape of a circular

ring of width 7 m to form an embankment.

Find the height of the embankment.

Watch Video Solution

63. A container shaped like a right circular

cylinder having diameter 12 cm. and height 15

cm. is full of ice-cream. The ice-cream is to be

https://dl.doubtnut.com/l/_dTSpaT2m3wAt
https://dl.doubtnut.com/l/_szUn1t3ADtrq


filled into cones of height 12 cm. and diameter

6 cm., having a hemispherical shape on the

top. Find the number of such cones which can

be filled with ice-cream.

Watch Video Solution

64. How many silver coins, 1.75 cm in diameter

and thickness 2mm., need to be melted to

form a cuboid of dimensions 5.5 cm  10 cm 

 3.5 cm ?

Watch Video Solution

×

×

https://dl.doubtnut.com/l/_szUn1t3ADtrq
https://dl.doubtnut.com/l/_InEygrAr7hWB


65. A vessel is in the form of an inverted cone.

Its height is 8 cm. and the radius of its top is 5

cm.It is filled with water up to the rim. When

lead shots, each of which is a sphere of radius

0.5 cm are dropped into the vessel, 1/4 of the

water flows out. Find the number of lead shots

dropped into the vessel.

Watch Video Solution

https://dl.doubtnut.com/l/_InEygrAr7hWB
https://dl.doubtnut.com/l/_lO4ptwA3pbL5


66. A solid metallic sphere of diameter 28 cm is

melted and recast into a number of smaller

cones, each of diameter  and height 3 cm.

Find the number of cones so formed.

Watch Video Solution

4
2

3

67. A golf ball has diameter equal to 4.1 cm. Its

surface has 150 dimples each of radius 2mm.

Calculate total surface which is exposed to the

https://dl.doubtnut.com/l/_0suBt2vGgIou
https://dl.doubtnut.com/l/_tntAM9PsDq89


surroundings. (Assume that the dimples are all

hemispherical) 

Watch Video Solution

          [π = 22/7]

68. A cyclinder of radius 12 cm. contains water

to a depth of 20 cm. A spherical iron ball is

dropped into the cylinder and thus the level of

water is raised by 6.75 cm. Find the radius of

the ball. 

Watch Video Solution

[π = ]
22

7

https://dl.doubtnut.com/l/_tntAM9PsDq89
https://dl.doubtnut.com/l/_4ABfnKkEVQM7


69. A solid toy is in the form of a right circular

cylinder with hemispherical shape at one end

and a cone at the other end. Their common

diameter is 4.2 cm and the height of the

cylinderical and conical portions are 12 cm and

7 cm respectively. Find the volume of the solid

toy. 

Watch Video Solution

[Use π = ]
22

7

https://dl.doubtnut.com/l/_4ABfnKkEVQM7
https://dl.doubtnut.com/l/_qQhAG7VnVGsx
https://dl.doubtnut.com/l/_xHT41CKWklDs


70. Three metal cubes with edges 15 cm., 12 cm.

and 9 cm. respectively are melted together

and formed into a simple cube. Find the

diagonal of this cube.

Watch Video Solution

71. A hemispherical bowl of internal diameter

36 cm. contains a liquid. This liquid is to be

filled in cyclindrical bottles of radius 3 cm. and

height 6 cm. How many bottles are required to

empty the bowl ?

https://dl.doubtnut.com/l/_xHT41CKWklDs
https://dl.doubtnut.com/l/_Qv6UwED4ABFB


Watch Video Solution

72. A company wants to manufacture 500

hemispherical basins from a thin steel sheet. If

the radius of basin is 14 cm., find the area of

steel sheet to manufacture the above

hemispherical basins.

Watch Video Solution

73. A toy is in the form of right circular cone

whose base radius 5 cm and height is 12 cm.

https://dl.doubtnut.com/l/_Qv6UwED4ABFB
https://dl.doubtnut.com/l/_6sv0Zjwh96Ne
https://dl.doubtnut.com/l/_HG3Jm4scdvaj


Find the area of sheet required to make 10

such toys.

Watch Video Solution

74. The shape of solid iron rod is a cylindrical.

Its height is 20 cm and base diameter is 14 cm.

Then find the total volume of 60 such roads.

Watch Video Solution

https://dl.doubtnut.com/l/_HG3Jm4scdvaj
https://dl.doubtnut.com/l/_FEgz9uv28n32


75. A heap of rice is in the form of a cone of

diameter 12 m. and height 8 m. Find its volume

? How much canvas cloth is required to cover

the heap ? 

(Use )

Watch Video Solution

π = 3.14

76. The curved surface area of a cone is

 and its diameter is 84 cm. What is its

slant height?

5170cm2

https://dl.doubtnut.com/l/_nTAzXXNh95qG
https://dl.doubtnut.com/l/_vblsrJcAO1XZ


Watch Video Solution

77. A cone of height 32 cm and radius 8 cm is

made up of modelling clay. A child reshapes it

in the form of a sphere. Find the radius of the

sphere.

Watch Video Solution

78. A metallic sphere of radius 4.9 cm is melted

and recast into the shape of a cylinder of

radius 7 cm. Find the height of cylinder.

https://dl.doubtnut.com/l/_vblsrJcAO1XZ
https://dl.doubtnut.com/l/_D7FN5iw54x1g
https://dl.doubtnut.com/l/_MogbBsmNSdbE


Watch Video Solution

79. The rain water from a roof of 

drains into a cylinderical vessel having

diameter of base 4 m. and height 4.2 m. If the

vessel is just full, find the rainfall in cm.

Watch Video Solution

33m × 30m

80. The radii of the internal and external

surfaces of a hollow spherical shell are 2 cm

https://dl.doubtnut.com/l/_MogbBsmNSdbE
https://dl.doubtnut.com/l/_rEbp2HPZsLpT
https://dl.doubtnut.com/l/_wwrITHyj8qI9


and 4 cm respectively. If it is melted and recast

in to a solid cylinder of radius . Find

the height of the cylinder.

Watch Video Solution

2√2cm

81. A cylindrical bucket, 36 cm high and with

radius of base 16 cm is filled with rice. This

bucket is emptied out on the ground and a

conical heap of rice is formed. If the height of

the conical heap is 27 cm. find the radius and

slant height of the heap.

https://dl.doubtnut.com/l/_wwrITHyj8qI9
https://dl.doubtnut.com/l/_yBpmx7L9R4cc


Watch Video Solution

82. Find the total surface area of a hemi-

sphere of radius 2.8 cm.

Watch Video Solution

83. A cone of height 16 cm and radius of base 4

cm is made up modeling clay. A child reshapes

it into a sphere. Find the radius of the sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_yBpmx7L9R4cc
https://dl.doubtnut.com/l/_jtQsNIuAbvbG
https://dl.doubtnut.com/l/_LzeIaY5A272r


84. A storage tank consists of a circular

cylinder with a hemisphere stuck on either

end. If the external diameter of the cylinder be

1.4 m. and its length be 8 m. Find the cost of

painting it on the outside at rate of Rs. 20 per

.

Watch Video Solution

m2

85. How many spherical balls can be made out

of a solid cube of lead whose edge measures

https://dl.doubtnut.com/l/_6mLmUeh7p7nI
https://dl.doubtnut.com/l/_BhtFaRcUuRzu


44 cm and each ball being 4 cm. in diameter ?

Watch Video Solution

86. Explain the terms in the formula

Watch Video Solution

V = l × b × h

87. Self help group wants to manufacture

joker's caps (conical caps) of 6 cm radius and 8

cm height. If the available colour paper sheet

https://dl.doubtnut.com/l/_BhtFaRcUuRzu
https://dl.doubtnut.com/l/_pGdkRa69lHi0
https://dl.doubtnut.com/l/_hGPYeouzLxkf


is  then how many caps can be

manufactured from that paper.

Watch Video Solution

1000cm2

88. A cone of height 24 cm and radius of base

6 cm is made up of modelling clay. A child

reshapes it in the form of a sphere. Find the

radius of the sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_hGPYeouzLxkf
https://dl.doubtnut.com/l/_KurVSPmOYMgm


89. A rectangular park is to be designed whose

breadth is 3 m less than its length. Its area is

to be 4 square metres more than area of a

park that has already been made in the shape

of an isosceles triangle with its base as the

breadth of the reatangular park and of

altitude 12m. Find its length and breadth.

Watch Video Solution

https://dl.doubtnut.com/l/_29sS7xdXQrHw


90. To calculate the quantity of milk inside a

bottle, we need to find out……..

Watch Video Solution

91. The height of right angle triangle is 7 cm

less than the base, the length of the diagonal

is 17 cm, then the length of remaining two

sides are…..

Watch Video Solution

https://dl.doubtnut.com/l/_CIoUoy4k4W5X
https://dl.doubtnut.com/l/_mjoRIzlI4jj9
https://dl.doubtnut.com/l/_yeL5MpOH8PGa


92. Find the volume and total surface area of a

hemisphere whose radius is 35 cm?

Watch Video Solution

93. The radius of a conical tent is 5m and its

height is 12m. Calculate the length of the

canvas used in making the tent if width of

canvas is 2m.

Watch Video Solution

https://dl.doubtnut.com/l/_yeL5MpOH8PGa
https://dl.doubtnut.com/l/_vZFYTfZe9k6x
https://dl.doubtnut.com/l/_oNyjQ66ID9o4


94. If a cyclinder and cone are of the same

radius and height, then how many cones full

of milk can fill the cylinder ? Answer with

reasons.

Watch Video Solution

95. A medicine capsule is in the shape of a

cylinder with two hemispheres stock to each

of its ends. If the length of cylinder part is

14mm and the diameter of hemisphere is 6

mm. then find the volume of medicine capsule.

https://dl.doubtnut.com/l/_oNyjQ66ID9o4
https://dl.doubtnut.com/l/_EHDeXsUywTlq


Watch Video Solution

96. State the relation between r and l (slant

height) of a cone.

Watch Video Solution

97. The radius of a spherical ballon increases

from 7 cm to 14 cm as air is pumped into it.

Find the ratio of volumes of balloon before

and after pumping the air.

Watch Video Solution

https://dl.doubtnut.com/l/_EHDeXsUywTlq
https://dl.doubtnut.com/l/_nh1eib32Pjyy
https://dl.doubtnut.com/l/_NbfO9Q9mL32K


98. A conical solid block is exactly fitted inside

the cubical box of side 'a' then the volume of

conical solid block is . If this statement

true. Justify.

Watch Video Solution

πa34
3

99. If the surface area of a hemisphere is ,'S'

then express 'r' interms of 'S'.

Watch Video Solution

https://dl.doubtnut.com/l/_NbfO9Q9mL32K
https://dl.doubtnut.com/l/_c3r1c6sPslm6
https://dl.doubtnut.com/l/_wubBSE0ZuiyZ


100. Find the volume and surface area of a

sphere of radius 42 cm.

Watch Video Solution

101. A solid metallic ball of volume 64  is

melted and made into a solid cube. Find the

side of solid cube.

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_wubBSE0ZuiyZ
https://dl.doubtnut.com/l/_EFYi0Cri3oT6
https://dl.doubtnut.com/l/_lmLl8W9owpJN
https://dl.doubtnut.com/l/_LaGZDRAR44eQ


102. DWARCA is supplied cuboidal shaped wax

block with measurements 88 cm  42 cm 

35 cm. From this how many number of

cylinderical candles of 2.8 cm diametre and 8

cm of height can be prepared ?

Watch Video Solution

× ×

103. Find the volume of the largest right

circular cone that can be cut out of a cube

whose edge is 11 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_LaGZDRAR44eQ
https://dl.doubtnut.com/l/_q53F1JIHjvhP


104. Find the volume of the largest right

cirucular cone that can be cut out of a cube

whose edge 5 cm.

Watch Video Solution

105. A sports company was ordered to prepare

100 paper cylinders without caps for shuttle

cocks. The required dimensions of the cylinder

are 35 cm length / height and its radius is 7

https://dl.doubtnut.com/l/_q53F1JIHjvhP
https://dl.doubtnut.com/l/_FD1tyxLdaUhs
https://dl.doubtnut.com/l/_3QhzX4sTvCvQ


cm. Find the required area of the thin paper

sheet needed to make 100 cylinders.

Watch Video Solution

106. A sports company was ordered to prepare

100 paper cylinders without caps for shuttle

cocks. The required dimensions of the cylinder

are 35 cm length / height and its radius is 7

cm. Find the required area of the thin paper

sheet needed to make 100 cylinders.

Watch Video Solution

https://dl.doubtnut.com/l/_3QhzX4sTvCvQ
https://dl.doubtnut.com/l/_GvV6adBucziN


107. The curved surface area of a cone is

 and its diameter is 50 cm. What is it's

slant height.

Watch Video Solution

3060cm2

108. The curved surface area of a cone is

 and its diameter is 40 cm. What is it's

slant height.

Watch Video Solution

3570cm2

https://dl.doubtnut.com/l/_GvV6adBucziN
https://dl.doubtnut.com/l/_6O7sSAKF9PLr
https://dl.doubtnut.com/l/_tZNKgEPrSoo1


109. A hemi-spherical bowl of internal radius 10

cm. Contains a liquid the liquid is to be filled

into cylindrical bottles of diameter 3 cm and

height 4 cm. How many Bottles are necessary

to empty the bowl.

Watch Video Solution

110. A hemi-spherical bowl of internal radius 18

cm. Contains a liquid the liquid is to be filled

into cylindrical bottles of diameter 5 cm and

https://dl.doubtnut.com/l/_kAnFyL3ZjShl
https://dl.doubtnut.com/l/_deGuUGfxW9Zp


height 6 cm. How many Bottles are necessary

to empty the bowl.

Watch Video Solution

111. The shape of solid iron rod is a cylindrical.

Its height is 14 cm and base diameter is 9 cm

then find the total Volume of 60 such rods.

Watch Video Solution

https://dl.doubtnut.com/l/_deGuUGfxW9Zp
https://dl.doubtnut.com/l/_71R4jORLx5eN


112. The shape of solid iron rod is a cylindrical.

Its height is 18 cm and base diameter is 12 cm

then find the total Volume of 75 rods.

Watch Video Solution

113. Find the volume of sphere of radius 6.3 cm

Watch Video Solution

https://dl.doubtnut.com/l/_W8HxZbd4DPFq
https://dl.doubtnut.com/l/_ArjIyh5ZRI5o


114. Find the volume of right circular cone with

radius 3 cm. and height 14 cm.

Watch Video Solution

115. The volume of cone , whose radius is 3 cm

and height is 8cm, is ……….. .

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_orOKI7Cm3FlK
https://dl.doubtnut.com/l/_ZVO2DOJnM3Al


116. A rectangular sheet of paper 

cm is rolled along the length to form a

cylinder. Assuming that the cylinder is solid

(Completely filled), find its radius and the total

surface area.

Watch Video Solution

44cm × 18

117. The area of a sector of a circle of radius 7

cm and central angle  is

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_i0wANgEQAZgY
https://dl.doubtnut.com/l/_7v5MlaS9HDd9


118. A right circular cylinder has radius  cm

and height 14 cm. Find curved surface area.

Watch Video Solution

3.5

119. Base circumference of a cylinder is 220 cm

and height is 63 cm then 

CSA= …………. .

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_7v5MlaS9HDd9
https://dl.doubtnut.com/l/_TDIFRfWAvzmi
https://dl.doubtnut.com/l/_d6EZA66fK5Zh
https://dl.doubtnut.com/l/_JL9WKdT5y4e4


120. In a cone, d = 14 cm, l = 10 cm then 

CSA = …………. .

Watch Video Solution

cm2

121. In a cube, a = 4 cm then 

TSA = ………….. 

Watch Video Solution

cm2.

122. The perimeter of an equilateral triangle is

60 cm then its area is …………… cm2.

https://dl.doubtnut.com/l/_JL9WKdT5y4e4
https://dl.doubtnut.com/l/_Vg2O4RvMEDb8
https://dl.doubtnut.com/l/_Va3MRIC7BNEL


Watch Video Solution

123. Volume of hemisphere is 19404  then

its TSA = ……….. .

Watch Video Solution

cm3

cm2

124. If the diagonal of a cube is 2.5 m then

volume is …………. 

Watch Video Solution

m3.

https://dl.doubtnut.com/l/_Va3MRIC7BNEL
https://dl.doubtnut.com/l/_nWs32dyUc8b3
https://dl.doubtnut.com/l/_FcizpsDmQXn6
https://dl.doubtnut.com/l/_MwgTCakNjnOa


125.  then r = ………..

Watch Video Solution

r3 = 1728

126. In a hemisphere, r = 1.75 cm then CSA =

………….. .

Watch Video Solution

cm2

127. In a cone, r=7 cm, h=10 cm then l= ……….. cm.

Watch Video Solution

https://dl.doubtnut.com/l/_MwgTCakNjnOa
https://dl.doubtnut.com/l/_Qvl8Q5uWwfCd
https://dl.doubtnut.com/l/_Bi76fi3lmWfp


128. The volume of a cube is 216  then

edge is ……….. cm.

Watch Video Solution

cm3

129. A hemisphere is cut out from one face of a

cubical wooden block such that the diameter

of the hemisphere is equal to the edge of the

cube. Determine the surface area of the

remaining solid.

Watch Video Solution

https://dl.doubtnut.com/l/_Bi76fi3lmWfp
https://dl.doubtnut.com/l/_KziFeXn4H9pp
https://dl.doubtnut.com/l/_QRAsM4V1wIW6


130. A metallic sphere of radius 4.2 cm. is

melted and recast into the shape of a cylinder

of radius 6 cm. Find the height of the cylinder.

Watch Video Solution

131. The volume of a hemi-sphere is 

. Find its curved surface area.

Watch Video Solution

2425 cm31

2

(useπ = )
22

7

https://dl.doubtnut.com/l/_QRAsM4V1wIW6
https://dl.doubtnut.com/l/_qfURL2TlH92r
https://dl.doubtnut.com/l/_lVEzxtzK1Pvs


132. The surface areas of two spheres are in

the ratio 1:4 then, ratio of their volumes is

Watch Video Solution

133. A metallic sphere of radius 5.4 cm is

melted and recast into the shape of a cylinder

of radius 9 cm. Find the height of the cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_lVEzxtzK1Pvs
https://dl.doubtnut.com/l/_elObmCkXRbhY
https://dl.doubtnut.com/l/_27i5HkKFXnNm
https://dl.doubtnut.com/l/_fnPXjrnGtptO


134. All oil drum is in the shape of a cylinder

with two hemi-spheres stuck to each of its

ends. The length of the drum is 5 m and the

width is 1 m. Find its surface area.

Watch Video Solution

135. The volume of the greatest cylinder that

can be cut from a solid wooden cube of length

of edge 14 cm is

Watch Video Solution

https://dl.doubtnut.com/l/_fnPXjrnGtptO
https://dl.doubtnut.com/l/_KxG2JsSKoLqx


136. A 10 m deep well of diametmer 3.5m is dug

and the earth got by digging is events spread

out to form a platform 20 m of base 12m. Find

the height of the platform.

Watch Video Solution

137. A solid metallic sphere of diameter 14 cm

is melted and recast into a number of smaller

cones, each of radius  and height 2 cm.

Find the number of cones so formed.

2 cm
1

3

https://dl.doubtnut.com/l/_gdXv6OraXkyO
https://dl.doubtnut.com/l/_24jBKqP6l3nr


Watch Video Solution

138. A solid iron cuboid of dimensions

 is melted to form a solid

sphere then its radius is

A. 24 cm

B. 21 cm

C. 18 cm

D. 13 cm

Answer:

49 × 33 × 24cm

https://dl.doubtnut.com/l/_24jBKqP6l3nr
https://dl.doubtnut.com/l/_suzsyCH6vEbR


Watch Video Solution

139. The volume of a vessel in the form of a

right circular cylinder is  and its

height is 7 cm, then the radius of the base is

A. 2 cm

B. 8 cm

C. 6 cm

D. 4 cm

Answer:

448π  cm3

https://dl.doubtnut.com/l/_suzsyCH6vEbR
https://dl.doubtnut.com/l/_caFDN6tjNO2F


Watch Video Solution

140. The volume and surface area of a sphere

are numerically equal. Then the volume of the

smallest cylinder in which the sphere is exactly

kept

A. 

B. 

C. 

D. 

54π

27π

36π

9π

https://dl.doubtnut.com/l/_caFDN6tjNO2F
https://dl.doubtnut.com/l/_CEt18mfsQadl


Answer:

Watch Video Solution

141. Ratio of volumes of a cone, a cylinder and

a hemisphere of same base, radius and equal

heights is ………..

A. 

B. 

C. 

D. none

1: 3: 2

2: 1: 7

1: 2: 3

https://dl.doubtnut.com/l/_CEt18mfsQadl
https://dl.doubtnut.com/l/_qRP8yA8OWlkD


Answer:

Watch Video Solution

142. Volume of hemi-sphere is ………..cu.units.

A. 

B. 

C. 

D. none

Answer:

πr2h
1

7

πr2h
1

3

πr32

3

https://dl.doubtnut.com/l/_qRP8yA8OWlkD
https://dl.doubtnut.com/l/_5yEORxNhnEfR


Watch Video Solution

143. Total surface area of cube is ……….sq. units.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

6l2

4l2

3l2

9l2

https://dl.doubtnut.com/l/_5yEORxNhnEfR
https://dl.doubtnut.com/l/_oqrwX3XaBoMR


144. CSA of cylinder is ….. sq. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

2πrh

πrh

πr

h

https://dl.doubtnut.com/l/_oqrwX3XaBoMR
https://dl.doubtnut.com/l/_jL89IRkApkla


145. Laddu is an example of ………

A. circle

B. cone

C. sphere

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_0BDiNEaSa8lW


146. The volume of a hemisphere of radius 3.5

cm is ………… .

A. 70.73

B. 189.83

C. 98.14

D. 89.83

Answer:

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_KHtQ0brPUmF5
https://dl.doubtnut.com/l/_lMOVWqEEMRsv


147. Diagonal of a cube is ……. units.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3√a

√3a2

√3

a

a√3

https://dl.doubtnut.com/l/_lMOVWqEEMRsv


148. In a cylinder, h = 14 cm, V = 176 , r =

……………….. cm.

A. 1

B. 10

C. 6

D. 2

Answer:

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_VaWnNCY1LZh6
https://dl.doubtnut.com/l/_0cHc3XtbRZ7O


149. Volume of cone with d as diameter and h

as height is ……… 

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

units3.

πd2

6

πd2h

12

πdh2

12

https://dl.doubtnut.com/l/_0cHc3XtbRZ7O


150. TSA of cylinder is , h = 20 cm then

its volume is ……… cm.

A. 1080

B. 3080

C. 1459

D. 4158

Answer:

Watch Video Solution

1188cm2

https://dl.doubtnut.com/l/_ldF1CL8bCwwk
https://dl.doubtnut.com/l/_YnUzdNVoDEqo


151. Volume of hemisphere is 19404  then

its TSA = ……….. .

A. 4118

B. 3158

C. 1459

D. 4158

Answer:

Watch Video Solution

cm3

cm2

https://dl.doubtnut.com/l/_YnUzdNVoDEqo


152. Football is an example of ……

A. circle

B. sphere

C. cone

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eeCw3ppm6b6I


153. The vertical cross section of a cylinder

is…….

A. circle

B. isoscles triangle

C. Right angld triangle

D. Rectangle

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_e1yialoOCd7k


Exercise

1. A toy is in the form of a cone mounted on a

hemisphere. The radius of the base and the

height of the cone are 7 cm and 8 cm

respectively. Find the surface area of the toy.

Watch Video Solution

(π = 22/7)

2. A cubical block of side 7 cm is surmounted

by a hemi-sphere. What is the greatest

https://dl.doubtnut.com/l/_anAZQdAk9utg
https://dl.doubtnut.com/l/_SKbWyLD1Ip8V


diameter the hemi-sphere can have? Find the

surface area of the solid.

Watch Video Solution

3. A cone of height 24 cm and radius of base 6

cm is made up of modelling clay. A child

reshapes it in the form of a sphere. Find the

radius of the sphere.

Watch Video Solution

https://dl.doubtnut.com/l/_SKbWyLD1Ip8V
https://dl.doubtnut.com/l/_AwBjKcNsDrmP


4. A metallic sphere of radius 4.2 cm. is melted

and recast into the shape of a cylinder of

radius 6 cm. Find the height of the cylinder.

Watch Video Solution

5. A juice seller was serving his customers

using glasses as shown in the adjacent figure.

The inner diameter of the cylinderical glass

was 5 cm, but the bottom of the glass had a

hemi-spherical raised portion which reduced

https://dl.doubtnut.com/l/_jQVKt9s6Eosd
https://dl.doubtnut.com/l/_p7qJ6hYXQfPK


the capacity of the glass. If the height of the

glass was 10 cm, find the apparent capacity of

the glass and its actual capacity.

https://dl.doubtnut.com/l/_p7qJ6hYXQfPK



(useπ = 3.14)

https://dl.doubtnut.com/l/_p7qJ6hYXQfPK


Watch Video Solution

6. The volume of a hemi-sphere is .

Find its curved surface area.

Watch Video Solution

2425 cm31

2

(useπ = )
22

7

7. A cylinderical bucket, 32cm high and with

radius of base 18 cm, is filled with sand. This

bucket is emptied out on the ground and a

https://dl.doubtnut.com/l/_p7qJ6hYXQfPK
https://dl.doubtnut.com/l/_dJClg0MC82yT
https://dl.doubtnut.com/l/_bHzEGv2NfWTS


conical heap of sand is formed. If the height of

the conical heap is 24 cm, find the radius and

slant height of the heap.

Watch Video Solution

8. The diameter of the internal and external

surfaces of a hollow hemisperical shell are 6

cm. and 10 cm. respectively. It is melted and

recast into a solid cylinder of diameter 14 cm.

Find the height of the cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_bHzEGv2NfWTS
https://dl.doubtnut.com/l/_c8dl8S2TYkIC


9. 2.2 cubic Dm of brass is to be drawn into a

cylinderical wire 0.25 cm in diameter. Find the

length of the wire.

Watch Video Solution

10. The rain water from a roof of 

drains into a cylinderical vessel having

diameter of base 2 m. and height 3.5 m. If the

vessel is just full, find the rainfall in cm.

Watch Video Solution

22m × 20m

https://dl.doubtnut.com/l/_c8dl8S2TYkIC
https://dl.doubtnut.com/l/_lb7979BIuMLH
https://dl.doubtnut.com/l/_7EAQUxG8KhkS


11. A right circular cone is 3.6 cm high and

radius of its base is 1.6 cm. It is melted and

recast into a right circular cone with radius of

its base as 1.2 cm. Find its height.

Watch Video Solution

12. How many spherical lead shots each 4.2 cm

in diameter can be obtained from a

rectangular solid of lead with dimensions 66

https://dl.doubtnut.com/l/_7EAQUxG8KhkS
https://dl.doubtnut.com/l/_mxL0SsIXO5Eu
https://dl.doubtnut.com/l/_qNW4CgXi6FE8


cm, 42 cm, 21 cm.

Watch Video Solution

(useπ = )
22

7

13. A metallic sphere of radius 4.2 cm. is melted

and recast into the shape of a cylinder of

radius 6 cm. Find the height of the cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_qNW4CgXi6FE8
https://dl.doubtnut.com/l/_jAN3sCixyYVx


14. A circus tent is cylindrical upto a height of

3 m and conical above it. If the diameter of the

base is 105 m and the slant height of the

conical part is 53 m, find the total canvas used

in making the tent.

Watch Video Solution

15. A wooden article was made by scooping

out a hemisphere from each end of a solid

cylinder, as shown in the figure. If the height of

https://dl.doubtnut.com/l/_ijizwVka6zyf
https://dl.doubtnut.com/l/_BEHIvrgnLyZ0


the cylinder is 10 cm and its base radius is 3.5

cm, find the total surface area of the article.

Watch Video Solution

16. A tent is in the shape of a cylinder

surmounted by a conical top. If the height and

diameter of the cylindrical part are 2.1 m and 4

m, and slant height of the top is 2.8 m, find the

area of the canvas used for making the tent.

Also, the cost of canvas of the tent at the rate

https://dl.doubtnut.com/l/_BEHIvrgnLyZ0
https://dl.doubtnut.com/l/_SccN3T5nhWdN


of .


Watch Video Solution

Rs. 500perm2

17. A solid is composed of a cylinder with hemi-

spherical ends. If the whole length of the solid

is 104 cm and the radius of each of the hemi-

spherical ends is 7 cm, find the cost of

polishing its surface at the rate of

Watch Video Solution

Rs. 10percm2

https://dl.doubtnut.com/l/_SccN3T5nhWdN
https://dl.doubtnut.com/l/_B3vc8b7sMAOF


18. A cylindrical vessel with internal diameter

10 cm and height 10.5 cm is full of water. A

solid cone of base diameter 7 cm and height 6

cm is completely immersed in water. Find the

volume of water

displaced out the cylinder 

Left in the cylinder.

Watch Video Solution

https://dl.doubtnut.com/l/_B3vc8b7sMAOF
https://dl.doubtnut.com/l/_T6HFmEaoIMnn


19. A cylinder road roller made of iron is 1

metre long. Its internal diameter is 54 cm and

the thickness of the iron sheet used in making

the roller is 9 cm. Find the mass of the roller, if

 of iron has 7.8 gm mass.


Watch Video Solution

1cm3

(useπ = 3.14)

20. A spherical glass vessel has a cylindrical

neck 8 cm long, 2 cm in diameter. The diameter

https://dl.doubtnut.com/l/_wSZg3iBzX1Jh
https://dl.doubtnut.com/l/_v3fvcnn5mc92


of the spherical part is 8.5 cm. By measuring

the amount of water it holds, a child find its

volume to be .


Check whether she is correct, taking the above

as inside measurements and 


345cm3

π = 3.14

https://dl.doubtnut.com/l/_v3fvcnn5mc92


Watch Video Solution

21. To find out quantity of water in the bottle,

we measure……….

A. surface area

https://dl.doubtnut.com/l/_v3fvcnn5mc92
https://dl.doubtnut.com/l/_Ev4ANFwxaAPV


B. total surface area

C. volume

D. base area

Answer:

Watch Video Solution

22. Lateral surface area of a cube is given by

A. 

B. 

2a2

4a2

https://dl.doubtnut.com/l/_Ev4ANFwxaAPV
https://dl.doubtnut.com/l/_G4zZLLXr8O8g


C. 

D. 

Answer:

Watch Video Solution

6a2

a3

23. the curved surface area of a right circular

cylinder is …….. sq. units.

A. 

B. 

2πrh

πrl

https://dl.doubtnut.com/l/_G4zZLLXr8O8g
https://dl.doubtnut.com/l/_B8waikAmvXG1


C. 

D. 

Answer:

Watch Video Solution

2πr(π + r)

2πr(r + h)

24. The ratio of volume of a cone and cylinder

of equal diameter and height is

A. 

B. 

3: 1

1: 3

https://dl.doubtnut.com/l/_B8waikAmvXG1
https://dl.doubtnut.com/l/_Yz2Lh7YJNmRT


C. 

D. 

Answer:

Watch Video Solution

1: 2

1: 1

25. Diagonal of a cube is ……. units.

A. a

B. 

C. 

√2a

√3a

https://dl.doubtnut.com/l/_Yz2Lh7YJNmRT
https://dl.doubtnut.com/l/_YMVF9jgDsYjx


D. 2a

Answer:

Watch Video Solution

26. The volume of a sphere of radius 'r' is

obtained by multipying its surface area by

A. 

B. 

C. 

4
3

r

3

4
r

3

https://dl.doubtnut.com/l/_YMVF9jgDsYjx
https://dl.doubtnut.com/l/_0WigtnznQdaq


D. 3r

Answer:

Watch Video Solution

27. Total surface area of a solid hemisphere of

radius 7 cm. is …… .

A. 

B. 

C. 

cm2

239πcm2

449πcm2

221πcm2

https://dl.doubtnut.com/l/_0WigtnznQdaq
https://dl.doubtnut.com/l/_bPa6uLFnEhIl


D. 

Answer:

Watch Video Solution

129πcm2

28. The curved surface area of a right circular

cone of height 15 cm and base diameter 16 cm

is

A. 

B. 

144πcm2

136πcm2

https://dl.doubtnut.com/l/_bPa6uLFnEhIl
https://dl.doubtnut.com/l/_TZeRbY464rjg


C. 

D. 

Answer:

Watch Video Solution

105πcm2

120πcm2

29. The surface areas of two spheres are in the

ratio 1:4 then, ratio of their volumes is

A. 

B. 

1: 4

2: 8

https://dl.doubtnut.com/l/_TZeRbY464rjg
https://dl.doubtnut.com/l/_RDMIudGS9kDC


C. 

D. 

Answer:

Watch Video Solution

1: 16

1: 64

30. The volume of the largest right circular

cone that can be cut out from a cube of edge

4.2 cm is

A. 19.4cm3

https://dl.doubtnut.com/l/_RDMIudGS9kDC
https://dl.doubtnut.com/l/_FNpaNGp6RZg6


B. 

C. 

D. 

Answer:

Watch Video Solution

74: 6cm3

9.7cm3

8.4cm3

31. The ratio of volume of a cone and cylinder

of equal diameter and height is

A. 3: 1

https://dl.doubtnut.com/l/_FNpaNGp6RZg6
https://dl.doubtnut.com/l/_jMkM7voFA1Ys


B. 

C. 

D. 

Answer:

Watch Video Solution

1: 2

2: 1

1: 3

32. An iron cylindrical rod has a height 4 times

its radius is melted and cast into spherical

balls of the same radius. The number of balls

cast is

https://dl.doubtnut.com/l/_jMkM7voFA1Ys
https://dl.doubtnut.com/l/_st6onegDxJ1m


A. 4

B. 3

C. 2

D. 1

Answer:

Watch Video Solution

33. A cone and a hemisphere have equal bases

and equal volumes then the ratio of their

heights is

https://dl.doubtnut.com/l/_st6onegDxJ1m
https://dl.doubtnut.com/l/_VA3M7Kv2Y3p8


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2: 1

3: 1

4: 1

1: 1

34. The volume of the greatest cylinder that

can be cut from a solid wooden cube of length

of edge 14 cm is

https://dl.doubtnut.com/l/_VA3M7Kv2Y3p8
https://dl.doubtnut.com/l/_snll909gAXH3


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2156cm3

1078cm3

539cm3

428cm3

35. A shuttle cock is a combination of

A. cylinder, sphere

https://dl.doubtnut.com/l/_snll909gAXH3
https://dl.doubtnut.com/l/_BYRfbQkKiRwO


B. sphere, cone

C. cylinder, hemisphere

D. hemisphere, first term cone

Answer:

Watch Video Solution

36. T.S.A of a solid hemisphere whose radius is

22 cm is ………. 

A. 

cm2.

327π

https://dl.doubtnut.com/l/_BYRfbQkKiRwO
https://dl.doubtnut.com/l/_SmBAP4G9vLhb


B. 

C. 

D. 

Answer:

Watch Video Solution

144π

147π

189π

37. If the radius of base of a cylinder is

doubled and the height remains unchanged,

its C.S.A becomes

https://dl.doubtnut.com/l/_SmBAP4G9vLhb
https://dl.doubtnut.com/l/_FlLJTTKBrq56


A. doble

B. times

C. half

D. no change

Answer:

Watch Video Solution

38. The number of cubes of side 2 cm which

can be cut from a cube of side 6 cm is

https://dl.doubtnut.com/l/_FlLJTTKBrq56
https://dl.doubtnut.com/l/_cqqOXnVELYY5


A. 3

B. 18

C. 27

D. 9

Answer:

Watch Video Solution

39. If the diameter of a sphere is 'd' then its

volume is

https://dl.doubtnut.com/l/_cqqOXnVELYY5
https://dl.doubtnut.com/l/_i2CXFfSKotLf


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πd31

6

πd34
3

πd31

24

πd31

3

40. A cylinder, a cone and a hemisphere are of

equal base and have the same height, then the

ratio of their volumes is

https://dl.doubtnut.com/l/_i2CXFfSKotLf
https://dl.doubtnut.com/l/_kT20x95viXaQ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3: 1: 1

3: 2: 1

1: 2: 3

1: 3: 2

41. Total surface area of a cube is  then

its volume is ………. .

216cm2

cm3

https://dl.doubtnut.com/l/_kT20x95viXaQ
https://dl.doubtnut.com/l/_RxWFxiGj9fs0


A. 216

B. 196

C. 212

D. 144

Answer:

Watch Video Solution

42. The total surface area of a cube is 54 

then its side is ……… cm.

cm2

https://dl.doubtnut.com/l/_RxWFxiGj9fs0
https://dl.doubtnut.com/l/_HCCYCOib78GX


A. 6

B. 9

C. 12

D. 3

Answer:

Watch Video Solution

43. Base area of a regular cylinder is 154 

then its radius is ……….

cm2

https://dl.doubtnut.com/l/_HCCYCOib78GX
https://dl.doubtnut.com/l/_mPdVXr43ul7Q


A. 49 cm

B. 7 cm

C. 22 cm

D. 14 cm

Answer:

Watch Video Solution

44. If the height and radius of a cone are 1.5

and 8 cm then its slant height = ……….. cm.

https://dl.doubtnut.com/l/_mPdVXr43ul7Q
https://dl.doubtnut.com/l/_nNQpXbiHcd5M


A. 2.5 cm

B. 7.5 cm

C. 5 cm

D. 10 cm

Answer:

Watch Video Solution

45. Curved surface area of a hemisphere =

……………

https://dl.doubtnut.com/l/_nNQpXbiHcd5M
https://dl.doubtnut.com/l/_Bj7PnqGs7zAg


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πr2

πr21

3

3πr2

2πr2

46. Volume of a cube having 1 cm side is ………….

A. 1cm3

https://dl.doubtnut.com/l/_Bj7PnqGs7zAg
https://dl.doubtnut.com/l/_lrZjC9Xpyz5M


B. 

C. 1 cm^2`

D. 

Answer:

Watch Video Solution

3cm3

3cm2

47. Ratio of volumes of two spheres is 8:27

then ratio of their curved surface areas is ……

A. 2: 3

https://dl.doubtnut.com/l/_lrZjC9Xpyz5M
https://dl.doubtnut.com/l/_Na6Lmt5ah48e


B. 

C. 

D. 

Answer:

Watch Video Solution

4: 27

8: 9

4: 9

48. Football is an example of ……

A. circle

B. cylinder

https://dl.doubtnut.com/l/_Na6Lmt5ah48e
https://dl.doubtnut.com/l/_OO3K2LT7F1J3


C. sphere

D. cone

Answer:

Watch Video Solution

49. Radius of a cone is 'r', height is 'h' and its

slant height is ' ' then which of the following is

false ?

A. always l gt h

l

https://dl.doubtnut.com/l/_OO3K2LT7F1J3
https://dl.doubtnut.com/l/_7IcSLlLh3ex7


B. always l gt r

C. always r gt p

D.  =  + h^2`

Answer:

Watch Video Solution

l2 r2

50. Radius, height, slant height of a cone are r,

h, l, then 'l' value in terms of r and h is ….

A. √h2 − r2

https://dl.doubtnut.com/l/_7IcSLlLh3ex7
https://dl.doubtnut.com/l/_XbW9n1I6bI4c


B. 

C. 

D. 

Answer:

Watch Video Solution

√r2 + h2

√r2 − h2

√4r2 + h2

51. To calculate the quantity of milk inside a

bottle we need to find out

A. Area

https://dl.doubtnut.com/l/_XbW9n1I6bI4c
https://dl.doubtnut.com/l/_HlaPWjlMhZle


B. Volume

C. Density

D. TSA

Answer:

Watch Video Solution

52. A sphere, a cylinder and a cone have the

same radius and same height then the ratio of

their curved surface areas is ……….

https://dl.doubtnut.com/l/_HlaPWjlMhZle
https://dl.doubtnut.com/l/_Ze76drv4xyFm


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4: 4: √5

1: 1: √5

√5: 4: 4

4: √5: 4

53. Diagonals of a cuboid is ……… units.

A. √l2 + b2 + h2

https://dl.doubtnut.com/l/_Ze76drv4xyFm
https://dl.doubtnut.com/l/_HavZEOMkt6kY


B. 

C. 

D. none

Answer:

Watch Video Solution

l√b2 + h2

b√h2 + r2

54. The radius of a conical tent is 3 meter and

height is 4 meter then its slant height

is…..meter.

https://dl.doubtnut.com/l/_HavZEOMkt6kY
https://dl.doubtnut.com/l/_CaLzCSuokFcZ


A. 5

B. 

C. A and B

D. none

Answer:

Watch Video Solution

√25

55. Total surface area of a solid hemisphere of

radius 7 cm. is …… .cm2

https://dl.doubtnut.com/l/_CaLzCSuokFcZ
https://dl.doubtnut.com/l/_YF1j6MU6GtwC


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3πr2

2πr2

3π

2π

https://dl.doubtnut.com/l/_YF1j6MU6GtwC


56. Volume of 

is cuboid

A. 16

B. 10

C. 6

D. 12

https://dl.doubtnut.com/l/_tNPquyoVQglV


Answer:

Watch Video Solution

57. The diameter of a metallic sphere is 6 cm

and melted to draw a wire of diameter 0.2 cm,

then the length of the wire is

A. 48 cm

B. 12 cm

C. 36 cm

D. 24 cm

https://dl.doubtnut.com/l/_tNPquyoVQglV
https://dl.doubtnut.com/l/_3Bp0kH9TYm73


Answer:

Watch Video Solution

58. A solid sphere of radius r melted and

recast into the shape of a solid cone of height

r, then radius of the base of the cone is (of

equal volume)

A. 2r

B. r

C. 3r

https://dl.doubtnut.com/l/_3Bp0kH9TYm73
https://dl.doubtnut.com/l/_MKUIfWW2M2pM


D. 4r

Answer:

Watch Video Solution

59. If the radii of circular ends of a frustum of

a cone are 20 cm and 12 cm and its height is 6

cm, then the slant height of the frustum is …….

cm.

A. 10

https://dl.doubtnut.com/l/_MKUIfWW2M2pM
https://dl.doubtnut.com/l/_QwaJmJ7jAXJ9


B. 6

C. 9

D. 8

Answer:

Watch Video Solution

60. The number of balls, each of radius 1 cm

that can be made from a solid sphere of radius

8 cm is

https://dl.doubtnut.com/l/_QwaJmJ7jAXJ9
https://dl.doubtnut.com/l/_1WIrvA6riaMA


A. 64

B. 216

C. 16

D. 512

Answer:

Watch Video Solution

61. The ratio of volume of two cones is 4:5 and

the ratio of the radii of their base is 2:3 then

ratio of their vertical heights is

https://dl.doubtnut.com/l/_1WIrvA6riaMA
https://dl.doubtnut.com/l/_rjH4TXVEp4i1


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

4: 5

9: 5

3: 5

2: 5

62. If the ratio of radii of two spheres is 2:3

then the ratio of their surface areas is

https://dl.doubtnut.com/l/_rjH4TXVEp4i1
https://dl.doubtnut.com/l/_tqdLEu1deliq


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3: 2

27: 8

8: 27

4: 9

63. If a cone is cut into two parts by a

horizontal plane passing through the mid

https://dl.doubtnut.com/l/_tqdLEu1deliq
https://dl.doubtnut.com/l/_Vuifti2lOXcF


point of the axis, the ratio of the volumes of

the upper part and the cone is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1: 2

1: 4

1: 6

1: 8

https://dl.doubtnut.com/l/_Vuifti2lOXcF


64. The height of a cylinder is doubled and

radius is tripled then its curved surface area

will become ….. times.

A. 7

B. 6

C. 9

D. 12

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_umAsUtkzmZ4s


65. Diameter of a sphere which can inscribe a

cube of edge x cm is ….

A. x / 3

B. 

C. 

D. 

Answer:

Watch Video Solution

x2

3

x

√3

x√3

https://dl.doubtnut.com/l/_PgdViKuAdoE7
https://dl.doubtnut.com/l/_Nlyx29Pa3vBU


66. Total surface area of hemisphere of radius

r is ……………

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2

2πr2

3πr2

https://dl.doubtnut.com/l/_Nlyx29Pa3vBU


67. Volume of a frustrum of a cone is …….

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

(R2 + r2 + R. r)
πh

3

(R2 + r2)
h

3

(R2 + r2)
πh

3

https://dl.doubtnut.com/l/_LgsfMjAt0VuB


68. If the length of each diagonal of a cube is

doubled, then its volume become ……… times.

A. 7

B. 8

C. 9

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_GvrDWwSzLthL
https://dl.doubtnut.com/l/_LIMiTVNE3MqF


69. If a right angled triangle is revolved about

its hypotenuse then it will form a ………..

A. double cone

B. triple cone

C. only cone

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_LIMiTVNE3MqF


70. A solid sphere of radius 10 cm is moulded

into 8 spherical solid balls of equal radius,

then radius of small spherical balls is ……….. cm.

A. 10

B. 9

C. 6

D. 5

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NbE3ZpPRnFtB


71. In a hollow cuboid box of size  m,

the number of solid iron spherical balls of

radius 0.5 m that can be packed …………

A. 71

B. 24

C. 22

D. 16

Answer:

Watch Video Solution

4 × 3 × 2

https://dl.doubtnut.com/l/_F6NII5I7n2LP


72. If the external and internal radii of a hollow

hemispherical bowl are R and r, then its total

surface area is …….

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πr2 + R2

πR2 + r2

πR2 + r

π(3R2 + r2)

https://dl.doubtnut.com/l/_o07uWMgIQpzN


73. Volume of cylinder is ……… cu. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2h

πr2

π

r

https://dl.doubtnut.com/l/_NyPqlkVwjx92


74. Volume of cone is …… cu. units.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πr2h
1

7

πr3h
1

2

πr2h

πr2h
1

3

https://dl.doubtnut.com/l/_DUMcXTI1NVIP


75. Volume ofsphere is ….. cu. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2h
4
3

πr34
3

πr31

3

https://dl.doubtnut.com/l/_PcjQEDuc2Ny6


76. Volume of cuboid = ……… cu. units.

A. 

B. 

C. lbh

D. none

Answer:

Watch Video Solution

l2b

lbh2

https://dl.doubtnut.com/l/_tVkTywez1Fk0


77. Total surface area of cube is ……….sq. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2 + πrl

πr2 + πr

πr2 + πl

https://dl.doubtnut.com/l/_DXA3rPrvjLSw


78. Total surface area of cylinder is ……… sq.

units.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

πrh + πr2

2πr + π

2πr2h

2πrh + 2πr2

https://dl.doubtnut.com/l/_HcgLMuzN6XNR
https://dl.doubtnut.com/l/_elXP9aTnJA0p


79. Total surface area of hemisphere is ……….. sq.

units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2

h

4πr2

8πr2h

https://dl.doubtnut.com/l/_elXP9aTnJA0p


80. Surface area of a sphere is ……….. sq. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πr2

h

4πr2

8πr2h

https://dl.doubtnut.com/l/_d79evN0m6XeY


81. Volume of a cube is ….. cu. units.

A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

3a2

a2h

a3

https://dl.doubtnut.com/l/_ACzNLattmTKl


82. The volume of a cube is 216  then edge

is ……….. cm.

A. 9

B. 10

C. 16

D. 6

Answer:

Watch Video Solution

cm3

https://dl.doubtnut.com/l/_gXXdpy3QoWB4
https://dl.doubtnut.com/l/_muItwRmO500o


83. Volume of cone is …… cu. units.

A. 

B. `pi rl^2

C. 

D. 

Answer:

Watch Video Solution

π2r2l2

πr2

πrl

84. In a cone, r=7 cm, h=10 cm then l= ……….. cm.

https://dl.doubtnut.com/l/_muItwRmO500o
https://dl.doubtnut.com/l/_mYOnfEmCkY3z


A. 12.2

B. 9.2

C. 10.1

D. none

Answer:

Watch Video Solution

85. 

A. 

π

22

7

https://dl.doubtnut.com/l/_mYOnfEmCkY3z
https://dl.doubtnut.com/l/_gp371P3gr8Vl


B. 

C. 

D. none

Answer:

Watch Video Solution

2

7

22

3

86. The volume of a right circular cone with

radius 6 cm and height 14 cm is ………. .

A. 462

cm3

https://dl.doubtnut.com/l/_gp371P3gr8Vl
https://dl.doubtnut.com/l/_rMfcT5jL2Sc9


B. 264

C. 486

D. none

Answer:

Watch Video Solution

87. A heap of rice is in the form of a cone of

diameter 12 m and height 8 m then volume is

………. .m3

https://dl.doubtnut.com/l/_rMfcT5jL2Sc9
https://dl.doubtnut.com/l/_Cb7aQTQABHnM


A. 110.53

B. 301.71

C. 310.51

D. none

Answer:

Watch Video Solution

88. In a cylinder, r = 8 cm, h = 10 cm, CSA =

………….. .cm3

https://dl.doubtnut.com/l/_Cb7aQTQABHnM
https://dl.doubtnut.com/l/_Nhe3ufzL4scn


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

3520

7

1520

9

3310

41

89. In a hemisphere, r = 1.75 cm then CSA =

………….. .cm2

https://dl.doubtnut.com/l/_Nhe3ufzL4scn
https://dl.doubtnut.com/l/_KCUocavaqS32


A. 38.5

B. 48.5

C. 93.5

D. none

Answer:

Watch Video Solution

90. Volume of cone if r = 2 cm, h = 4 cm is

…………..

https://dl.doubtnut.com/l/_KCUocavaqS32
https://dl.doubtnut.com/l/_ghu9po3BrYWD


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

π
16

3

π
6

7

π
81

31

91. Surface area of a sphere and cube are

equal. Then find the ratio of their volumes.

https://dl.doubtnut.com/l/_ghu9po3BrYWD
https://dl.doubtnut.com/l/_V0VFIuSqu617


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

√π : 1

√π : √6

π : √6

92. In a hemisphere, r = 1.75 cm then CSA =

………….. .cm2

https://dl.doubtnut.com/l/_V0VFIuSqu617
https://dl.doubtnut.com/l/_RA26NzKD1OSo


A. 210

B. 308

C. 114

D. 112

Answer:

Watch Video Solution

93. In a cube, a = 8 cm then TSA = ……….. .

A. 1170

cm2

https://dl.doubtnut.com/l/_RA26NzKD1OSo
https://dl.doubtnut.com/l/_8l4Yhdxyps0u


B. 1120

C. 2310

D. 1320

Answer:

Watch Video Solution

94. Heap of stones is an example of

A. cylinder, sphere

B. cone

https://dl.doubtnut.com/l/_8l4Yhdxyps0u
https://dl.doubtnut.com/l/_NDs5d5LO5ouE


C. circle

D. none

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_NDs5d5LO5ouE


95. In the figure,  =…………


A. 

B. 

C. 

l2

h2 + r2

√l2 + h2

h2 + r

https://dl.doubtnut.com/l/_PJrivwu8qNyz


D. 

Answer:

Watch Video Solution

h + r2

96. Area of equilateral triangle of side 'a' units

is …….. sq. units.

A. 

B. 

C. 

a21

√3

a24

√3

a
√3

4

https://dl.doubtnut.com/l/_PJrivwu8qNyz
https://dl.doubtnut.com/l/_JNOusHxl9O9V


D. 

Answer:

Watch Video Solution

a2√3

4

97. Perimeter of square is 20 cm then A = ……….

A. 12

B. 16

C. 25

cm2.

https://dl.doubtnut.com/l/_JNOusHxl9O9V
https://dl.doubtnut.com/l/_KNhTqML62mXL


D. none

Answer:

Watch Video Solution

98. Diagonal of rectangle is ………. units.

A. 

B. 

C. 

D. 

√l2 + b2

√l + b

l + √b

√l + b

https://dl.doubtnut.com/l/_KNhTqML62mXL
https://dl.doubtnut.com/l/_cGZbqblpK4CX


Answer:

Watch Video Solution

99. Volume of hollow cylinder is ….

A. 

B. 

C. 

D. 

Answer:

πR − r

πr2 − R

πR2 − r

π(R2 − r2)

https://dl.doubtnut.com/l/_cGZbqblpK4CX
https://dl.doubtnut.com/l/_IyGykZkE8IHR


Watch Video Solution

100. ……… gave the symbol .

A. Euler

B. Pepe

C. Mount

D. None

Answer:

Watch Video Solution

π

https://dl.doubtnut.com/l/_IyGykZkE8IHR
https://dl.doubtnut.com/l/_Ec7ywkJUt9vp


101. In a cone, (l+r)(l-r) = ………

A. 

B. 2h

C. h

D. none

Answer:

Watch Video Solution

h2

https://dl.doubtnut.com/l/_Ec7ywkJUt9vp
https://dl.doubtnut.com/l/_UjbfgwWiXcCe


102. A cuboid has dimensions 

then its volume is ……..

A. 190

B. 780

C. 680

D. 480

Answer:

Watch Video Solution

10 × 8 × 6cm

cm3.

https://dl.doubtnut.com/l/_2GebobVg4Xcm
https://dl.doubtnut.com/l/_5rnpcWRbi1pn


103. CSA of a cone is 4070  and its

diameter is 70 cm then slant height is ………..

A. 27

B. 17

C. 37

D. 16

Answer:

Watch Video Solution

cm2

cm.

https://dl.doubtnut.com/l/_5rnpcWRbi1pn
https://dl.doubtnut.com/l/_7Qbhf2cP8gKq


104. The sphere is of radius 2.1 cm then its

volume is ………. 

A. 38.08

B. 381.2

C. 83.01

D. none

Answer:

Watch Video Solution

cm3.

https://dl.doubtnut.com/l/_7Qbhf2cP8gKq


105. In  then l =

……….

A. 20

B. 17

C. 16

D. 19

Answer:

Watch Video Solution

l2 = h2 + r2, h = 15, r = 8

https://dl.doubtnut.com/l/_SPNbkShjY0A3
https://dl.doubtnut.com/l/_wIRjsqB6yTN5


106. The surface area of a sphere is 616 sq.cm.

then its radius is …… cm.

A. 16

B. 12

C. 9

D. 7

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_wIRjsqB6yTN5


107. In a cone, d = 14 cm, l = 10 cm then 

CSA = …………. .

A. 220

B. 140

C. 160

D. none

Answer:

Watch Video Solution

cm2

https://dl.doubtnut.com/l/_ptxFQFktXLDt
https://dl.doubtnut.com/l/_59sXPSXrfgsD


108. In a cube, a = 8 cm then TSA = ……….. .

A. 12

B. 70

C. 90

D. none

Answer:

Watch Video Solution

cm2

109. Number of edges of a cuboid is ……

https://dl.doubtnut.com/l/_59sXPSXrfgsD
https://dl.doubtnut.com/l/_MJR1bxS5gwUg


A. 11

B. 16

C. 10

D. 12

Answer:

Watch Video Solution

110. If the diagonals of a rhombus are 10 cm

and 24 cm then area is ……. cm2.

https://dl.doubtnut.com/l/_MJR1bxS5gwUg
https://dl.doubtnut.com/l/_SLwXR1CQSG2q


A. 120

B. 160

C. 180

D. none

Answer:

Watch Video Solution

111. Volume of cone with d as diameter and h

as height is ……… units3.

https://dl.doubtnut.com/l/_SLwXR1CQSG2q
https://dl.doubtnut.com/l/_kFyMKX7CbuFg


A. 

B. 

C. 

D. none

Answer:

Watch Video Solution

πd2

6

πd2h

12

πdh2

12

112. The area of the base of a right circular

cone is 78.5 . If its height is 12 cm then its

volume is ………. .

cm2

cm3

https://dl.doubtnut.com/l/_kFyMKX7CbuFg
https://dl.doubtnut.com/l/_7K7D9x2J386W


A. 110

B. 814

C. 413

D. 314

Answer:

Watch Video Solution

113. The volume of a cuboid is 3,60,000  If

its area is  then 


h = …………..cm.

cm3.

5, 600cm2

https://dl.doubtnut.com/l/_7K7D9x2J386W
https://dl.doubtnut.com/l/_g1GFmJoyPvxN


A. 70

B. 60

C. 95.5

D. none

Answer:

Watch Video Solution

114. The volume of cone is 

then h = ……. cm.

462cm3, r = 7cm

https://dl.doubtnut.com/l/_g1GFmJoyPvxN
https://dl.doubtnut.com/l/_xh2NYecSju06


A. 9

B. 10

C. 11

D. none

Answer:

Watch Video Solution

115. The area of equilateral triangle is

 then the perimeter is ……… cm.36√3cm2

https://dl.doubtnut.com/l/_xh2NYecSju06
https://dl.doubtnut.com/l/_ycDInHbhbidt


A. 36

B. 63

C. 16

D. 10

Answer:

Watch Video Solution

116. Surface area of a cube of side 27 cm is ……….

.cm3

https://dl.doubtnut.com/l/_ycDInHbhbidt
https://dl.doubtnut.com/l/_JPV77rMoAElb


A. 1474

B. 8174

C. 1374

D. 4374

Answer:

Watch Video Solution

117. The perimeter of an equilateral triangle is

60 cm then its area is …………… cm2.

https://dl.doubtnut.com/l/_JPV77rMoAElb
https://dl.doubtnut.com/l/_1XQKBdC4TlHp


A. 149.3

B. 170.1

C. 137.4

D. 173.2

Answer:

Watch Video Solution

118. If the diagonal of a cube is 2.5 m then

volume is …………. m3.

https://dl.doubtnut.com/l/_1XQKBdC4TlHp
https://dl.doubtnut.com/l/_Sf6TbMVZviJn


A. 3.01

B. 4.01

C. 8.1

D. none

Answer:

Watch Video Solution

119.  then r = ………..

A. 13

r3 = 1728

https://dl.doubtnut.com/l/_Sf6TbMVZviJn
https://dl.doubtnut.com/l/_42nOehbiYhiZ


B. 19

C. 10

D. 12

Answer:

Watch Video Solution

120. Number of faces of a cuboid is ……

A. 9

B. 10

https://dl.doubtnut.com/l/_42nOehbiYhiZ
https://dl.doubtnut.com/l/_z4bIbSlW6pHx


C. 6

D. 8

Answer:

Watch Video Solution

121. Two cones have their heights in the ratio 2

: 6 and radii 9 : 3. Then the ratio of their

volumes.

Watch Video Solution

https://dl.doubtnut.com/l/_z4bIbSlW6pHx
https://dl.doubtnut.com/l/_j6FBPlvRuQpj


122. Two cones have their height in the ratio 1 :

3 and radii 3 : 1 then the ratio of their volumes.

Watch Video Solution

123. How many Balls each of radius 2 cm can be

made from a solid sphre of lead of radius 8 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_ZMLplMj0umcS
https://dl.doubtnut.com/l/_PptdCKCSo2Nm


124. If the diameter of a sphere is 'd' then its

volume is

Watch Video Solution

125. If radius is 2 cm then find the volume of a

Ball.

Watch Video Solution

https://dl.doubtnut.com/l/_6XBZRJ5BApnH
https://dl.doubtnut.com/l/_AXWPvFjDHjMf

